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Please make sure that the prmted pages m this questwn paper are 16 n number

and it contams 30 questions.” _ - - : :
o yev—w#aw%#arer%?aﬁ?ﬁz?@#@WW@E#WWW%gw—WWWz ;

The Code No. and Set on the nght side. of the qm?stzon paper should be wntten by
: the cand:date on.the front page of the answer booﬁ : '

g WW?WW@WJFW#W F?VWW%WZTW’

Before begmmng to answer a questzon u‘s .S‘erzal Number must be wrztten

;8 WW%W#WW/Q#W??/

Don’t leave blank page/ pages in your answer—book
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. WW%WW#W?%HB?W; 37 W&W@?‘Woﬁ?ﬁ/@rsﬁ??
el o |
Except answer-book, no exfra sheet will be gwen Write to the point and do not strike

the written answer. U ' |

o TR ST AT To HIT-UH T ofaed ford) ??W-'fo #wﬁﬁwwvwwwfﬁ’#q
WWW%##WWWWW%SW?Wf |
Candidates must write thb"r Roll No. on the quest:on paper. Except Roll No. do not
write anything on questzorgzoaper and don't make any mark on answers of ob]ectwe
type questions.

. Wﬁa?%‘aﬁré##ga‘%gﬁﬁwwﬁz%yﬁ—wﬁaﬁﬁ ghET F TIUT §F
T § Fig A qrar @Hre T8 B am o _;
Before answenng the questzons, ensure that you have been supplzed the correct and

complete question paper, no claim m this regard, will be entertained after
examination. ' ' '

General Instructions e e . -. 3 . A |
.All questions are compu!sory | e
(i) TGS I B H@?W}%@‘/
| Write the correct_qg;lon in objective type questions.
(i) 7 A 7 SARE R 7T T &
| Internal cho%ée has been provided n some q_uestioné.
i) T T & o awE ar e &

Marks of each -qu'estion are indicated dgainst it.

11OG)(S§t:C). Pl %% |
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g -

o
L -
SECTION-A o
e - o
(e o) o
(PHYSICS) '_
1. Ed o) F SIAEE e 2 | 1
The SI unit of clectric c_urreﬁt is e § utf')_)
| ' o
2@@%%@%@@6%%? o 1

Why does the sun éppear reddish early in the morning ? -

)
é“{it

‘J

3. ﬁwf%ﬁaﬁm:rﬁ 7 FA ¥ ¢ o (A) SR FR (R), nﬁ%aﬁ%ﬁﬁ@mﬁaﬁﬁw

H TET FA gU I AR ¥
AU (A) : W—wmr%amﬁwﬁmﬁﬁ@éam% aaqziaaﬁ;

. E«%rﬁagﬁzﬁraﬂ'{aﬁ% - |
. W (R): 'wﬁﬁﬁeﬂﬁﬁiﬁwﬁﬂ%wwm%aﬁrmﬁquqﬁ

(A) (Aa(R)aﬁfw%am(R A)a?rwé’rsqr@n%m
(B) (M3 R I T ¥, ®Y (), (A]#H@HTI@TEF%T%!
() (A) T ¥, WY (R) A B '

(D) (A) o9 B, g (R) T 81 s
1106/(Set: C) P ] | o BT,
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: |

The question below consmtéo”fgf two statements : Assertion (A) and Reason (R),

answer the question by seleﬁi‘gmg the appropriate option g1ven below

Assertion (A): A ra.lnbow is sometimes seen in the sky. in rainy season only -
i when observer's back is towards the sun.

Reason (R):  Internal reﬂection in the water droplets cause dispersion and
the final ra{%’s are in backward direction.

(A) Both (A) and (R) are trugand- (R) is the correct _explanétidn of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)is true, but (R) is false, |

(D) (A) is false, but (R) is true.

4.mwmwmmwaaaﬁraamm 15%1%%:&'&016211%&
‘ H‘ﬂﬁﬁ% : , _. 1

(A) A ETT

(B) a’ﬁfaﬁa |

() wfor s, A o
(D) o, d om0

A spherical mirror and a th% sphcrlcal lens have each a. focal length of 15 cm.

The mirror and the lens are xILi}cely to be :

(A) both concave |

(B) both convex

(C). the mirror ié'ébﬁééve and the lens is convex
(D) the I_ni‘rr«‘or' is.comliex ar‘ld‘the lens is co_ﬁcavé

1106/(Set : C) | il
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- A4
5. Preffed & & d-m @ Ry oRed § REd off & Frefa 727 S ? 1
. o) ik |
@A) 2R . (B) IR*V
(C) VI | (D) V*R-
Which of the folloﬁing terms does not repr‘g%eht electrical power in a circuit ?
(A) IR : (B RQ
| 2 )
(C) WI o (D) ViR
6. frfeiad @ afwm & | : T - 1+41=2
(a) ATGHSET STE
(b) T O
%
Define the foiloﬁ_ring S
(a) Atmospheric refraction __
(b) Scattering of light
- . ' . 2 m
9]

7. o i Rgd e BT @9 4 A R o) A R, 79 IS <P & SRR so v
¥ g @ Rge A Rt R o &, o B @ 120 V o wgr Rar smm 7 2
The potenti_ai difference bet\'z_veenl the terminals of an electric heater is 60 V,

when it draws a current of 4 A from the source. What current will the heater

draw if the potential difference is increased to 120 V ?

1106/(Set : C) o ﬁ _ L RS,
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OR |
R &1 3 cigel & P % e o S a1ig) VAT S T o § 7

. : o .
Why is the tungston used almost exclusively fon filament of electric lamps ?
-0

8. mﬂw%'?msfw-w1 Rl e @1 SRR B BRel W AR e 2?3

What is resistance ? State its SI unit. On which factors does the resistance of a

conductor depends ? = ' - '-B
5 N " ‘ : . i h |
9. (a) ﬂgﬂﬁu%ﬂmw-@%ﬁqﬁ%zﬁwﬁ@ﬁ? = 2

Why don't two magnetlc lines of force mtersect each other ?

E-B

(b) Eﬁ@fﬂﬂﬁn %ﬁﬁ@ﬁﬁﬁgﬁmﬂa@wwmwweﬁﬁq@w%? 1
When is the forcel experienc.éd by a current c'arry'irig Vcon’duc.:'tor. placed in a :
magnetic field largest ? “ | | |

| " OR . | R |
Wmmwm%?w%wﬁﬁgﬁnﬂmﬁwﬁmﬁWQW-"
% ? 3

255'}

'c3

What is the function of an earthwire ? Why is it necessary to earth metallic

appliances ?

1106/(Set : C) A %
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10. (a) wﬁﬁmﬁ%aﬁ%—%ﬁwwmm%aﬂ??ﬁ? - LB
Whlch mirror do we use‘('gs rear-view mirror in vehicles and why ?
(b) S oEd R ¢ omed & Prw Rfen Loone
What is refraction of ligﬂg? Write down '"the laws of refraction. |
R
U
. | W BR ae
(a) ‘@"T@fﬁim o DAL IV .
“Write the mirror formula.
| (b) wmmww@r%ﬁweﬁmwaﬁﬁiﬁqﬁﬁaw@? e T

"~ Name a mlrror that can give an erect and enlarged image of an object

L

(c) _ﬁﬁ@faﬁﬂaﬁﬂﬂ&tﬁﬁﬂiﬁlsw%lﬁﬁiﬁﬁﬂﬁﬁﬁﬁ@ﬁ@ﬁisﬂ%m

. TR

Fa# e d 10 Q@ waffma? | | 3
' : . A concave lens has focal length of 15 cm. At what distance should the
1 object from the lens be plaeed so that it forms an image at- 10 cm from the
1 - lens ? N . | :
& SECTION-B
| (e AE
| B (vame fs)
| (CHEMISTRY) |
11, e % o1 @W%mw:&raﬁ%q i TR e g

............

| 1106/(Set: C) o T @ T ORI ]

is a metal, which is a 11qu1_c_1 at room te'mperature.
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(8)
12. s Affe @ T o A ? 7 | | 1
Why do ionic compounds have high, melting pomts ?
.0 . .
N .
13. ﬁqﬁaﬁmmﬁmmm&mm%mmm%. e
(B) I RS @ "
(C) AR TEgEs
(D) SYxer T
Which of the followmg solutlons Wakp used to wh1te wash walls ?
- (A) Sodium. hydrox1de R i:‘\lﬁ
: S o)
(B) Calcium hydroxide S
o
(C) Magnesium hydroxide
(D) All of the above
14. coOCL# W@ A E? B AP S
&) frm FRaER B), iaifﬂfﬁiﬂ’f
) Wmds . Igjierm@l@[

What is common name of CaOCl,? LS o

() Gypsum (B) Bleaching Powder

(C) Baking Soda (D) Washing Soda

1106/(Set: C) - %?a
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15. ﬁrq?@%aqsqﬁ E,'?Eﬁe:r«r% W(A)WW(R)JW%%E&@@QWW
% T B FY I AT q
ARHET (A) : WW?@%@Wﬁﬁaﬁﬁﬁaw%r S
BT (R) : @%WQT%WﬁWWWWWW@@TW
. memsmawn |
(&) (A) T (R) Al I § T (R Eﬁrﬂé’ra@n%l_
B) (A)F aﬁiw% qvg)(R) ﬁﬂé‘ra{mﬁ%l

(C) (A) TH %, WY, (R Gi’ﬂ?ﬁ')m%l -

(D) (A) ITHA B, g (R) TR

:

The question_'below consists of two statefné_nts :_.Assei'tion (A) and Reason (R),

-
"-?E 1%
tx

answer the question by selecting the appropriate o_pt.ion.g'iven below :
Assertion (A) : ‘White silver chloride turns grey in sunlight.

Reason (R) : . Dccomposition of slilver'chlori-de‘ in present:e of sunlight takes

T place to flaﬁm silver metal and chlorine gas
| | 0N |
(A) Both (A) and (R) are tr'gﬂe and (R) is the correct explanatmn of (A).
mn

(B) Both (A) and (R I) are tru)e but (R) is not the correct explanatmn of (A).
" (C) (A)is true, but ) is false.

(D) (A) is false, ‘but: (R) is true.

06/(Set : C) R T BRI
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16. WA ot 70 S ? o G AR & o 2

N
What is Combination ReaCtion ? Give an@xalnple- '

17, a&r#aﬁqﬁaﬁrﬁmaﬁrwaﬁﬁaﬁﬂﬁaﬂ%? \ e 2
Why do acids not show acidic behaviourtgl the abseflce of water ? - |
18. oI W & R AT "B'%lW‘A'%%HW6%@@W'E'%pHWW"8
%lmWﬁa@mW#mmwﬁﬁ%W%m%W? 3

You have two solutions 'A' and 'B'. The pH of solutlons '‘A'is 6 and pH of solution

A

. 'B' is 8. Which solution has more hydrogen ion concentration ? Which of this is

acidic and which one is basic ?
% '

19. SvEudl g 1 o § 7 @ vl o s W smewr A . 3
What are amphoteric oxides ? Give tw‘o .examples-of‘ amphb_teric oxides.. -

3255

OR
wﬁmwuﬁf%eﬂmmmﬁwaﬂg@@ﬁﬁ%%ﬂw | 3

-‘ Differentiate between metals and non—metals on the basis - of chermcal

'propermes

i106(Set:0) @
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$20. () TR AN FY P SR B W R e T B
What is an homologous series ? Expleud Ryith an exarnple

® @%@fqﬁwmﬁqﬁaﬁﬁaﬂﬂﬁwaﬁﬁmﬁﬁ%?aﬁﬁwﬁ

ferRam f . 3

Why is the coﬁversion of ethanol to ethanoic acid is an oxidation reaction ?

Write the reaction also.

| | !g'
- |
" OR m

(&) W@MWWWG@WW&%M%Wﬁ@WW%? 2

" Why are. carbon and its compounds used as fuels for most apphcatmns ?

ﬁ:.cﬁi :
(b) WRERgEET R . 0 . 1x3=3
() UAEE o
(i) HpS
(i) IAE
Draw the eieétron dot strtictures for : i
| P - fe 2
(i Ethanoicacid . : | :;)r
' Y .
% g . B
(ii) H,S | . LL;

(iiij Propanone

110(;I(Set:C)' | -  . @ga | 7 f’-'T-O-
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- 2
SECTION - C i
 (oh ) |
(LIFE SCIENCE) .,
21. qFASA F ST A B T B A B ... 'esrm%n | 1
_ T | =i

The main reason for the loss of ozone layer in atn%sphere is the increase

[ 5

22.Wﬁmgﬁfﬁmwﬁm%maﬁ%%ﬁwaﬁaﬁ%?-_- e 1

What is essential fo;‘ the syrithesis of thj_rrbxine by the thyroid gland in human ?

i

23. ﬁwﬁﬁﬂwmﬂi@waﬁrmlaﬁ%%? R R L 1
o S ﬁ%\ﬂm\?{m i | £ e o .
(B) T, SHA @AW
©) w0, T @ eh

. (D) W, AE Ty | - ﬁ
Which of thé folloWing constitute é food chain ',-_)-- . _ Q |
(A) Grass, Wheat'and Mango - - 8
(B). Grass, Goat and Hﬁman
© Goat, Cow and Elephant e x T - | o "o L ,:.

(D) Grass, Fish and Goat

1106/(Set : C) ' o | ﬁ |
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24. 1 & | A9 qrg & 71X T 9F B AR ?

1106/(Set : C)
1

c393255

(A) T

(B) i
(©) " st
(D) Reafeh

C393255

Which of the following is a part of male reproc'iu.ctive system iﬁ human beings ?
'[A] 'Ovary - |

(B) Uterus

(C) Vas deferens -

- (D) F‘allépcan tube

25. ﬁﬂﬁf@ﬁnﬁﬂ a?m% W(A)eﬂ?wm),nﬁ%:ﬁ%ﬁﬁnﬁmﬁm

AT (A) ;- ﬁﬁwﬁmnﬁmﬁﬂgﬂmﬁmwﬁﬁmﬁ@?ﬁ%l
PR (R) : WM%mmwﬁQOﬁ%'

B) ()7 (R) T 7 E @ (R), (A)ﬂ%ﬁé’r-aiﬂbar%l “
(mmwmﬁwﬁwmmwﬁw@ww%'

(C) (A) F B, W(R)m%l

(D) (A)W% tﬂq (R) T B

1106!(Set C) | ‘ | _ g ﬁ : | P.T.O.
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The question below consists of two statements, : Assertion (A) and Reason (R),
answer the question by selecting the appropriefe option given below :
' ™M
. ' | o) y
Assertion (A) : Energy is required to carry oﬁei)t different life processes.

-

\ : ) ~ . g
Reason (R) : Energy is obtained in the form of ATP in the mitochondria.
s :

(A) Both (A) and (R) are true andl(R] is the correct Ie.xplanatio.n of (A).

(B) Both (A) and (R) are true, but (R) is sk thg, correct explanation of (A).

(C) (A) is true, but (R) is false.

C39325

(D) -(A) is false, but (R) is true.

| v-m :
g

26®W3ﬁwwmaﬁﬁﬁﬁ oA R ey i 2

(b) qﬁawww%

. -
Name such plant hormone, which : N
™M
(@) induces cell division - 8
(b)  inhibits growth
’ = : ' Wuldl? 1 4y
1106/(Set : C) ;";..-
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27. WA & g7 B oy e ¥ 7 | T S 2

™
48

: ! o\ T s -
What are the functions performed by the testis in human beings ?

28-3@#&3%&5%'%3%&5{@?‘1‘1 ' - 3
1) | | R
Draw a 1abelled dlagram of long1tud1nal se@mn of a flower.
)

ay.
29. A ¥ a=y A R Frefeer 3 e ¥ ? g

How is the sex of the child drete_rmined'in-hu:r'nan beiﬁg’s ?

- OR

o & AT & B O A B RO o R W A AIEAAE Y g

How do Mendel's experimerjté s'yhci)w that trég_its are inherited independenﬂy 2

(a)ﬁﬁ?f%glﬁ#ﬁﬁﬂﬁﬂ%%?-f e | < o
A
What is the role of sallva in the. dlgesfé‘;%n of food ?*

(d) maﬁaeﬂwamaw%ﬁamaﬁ&fm : _ 3

Wnte three d1fferences between aerobm and anaerobic respiration in

" human bemgs

1106/(Set : C) P.T.O.
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(16)
o
2 sn.°
- . OR - .
(a) WW%WWW%—PTT%? © . @

What are the necessary condltlons for autotrophlc nutrition ?

 (b) Wwaﬁﬁwﬁﬁﬁﬂwl ' Z

Draw a well labelled diagram of human digestive system.

C€393255

e TR
bk |

. C393255
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